FINAL EXAM
1. The area on a chart where one can expect a possible increase in the selling of futures would be called a:   Answer = B

A. support area

B. resistance area

C. congestion area

D. none of the above

2. A trader who thinks interest rates will rise would:   Answer = B

A. buy calls

B. buy puts

C. sell uncovered puts

D. write covered puts

3. The hedger will usually pay a smaller margin than speculative longs and shorts.  True.

4. A STOP LIMIT order to buy becomes a limit order when the commodity sells at or above the limit price.   True.

5. A client goes long one (1) June S&P 500 Index futures contract at 100.00 on the last trading day for June contracts.  The contract last trades on that day for 100.35.  If the underlying S&P 500 Index's final settlement for the June contract is 100.33 and the customer has not offset his position, he will:   Answer = C

A. be credited $175.00

B. be debited $175.00

C. be credited $165.00

D. be debited $165.00

6. Margin due from a clearinghouse member based upon settlement price is payable to the clearinghouse:   Answer = C

A. 24 hours after the call

B. 1 hour after the call

C. before the market opens the next business day

D. none of the above

7. A hog-corn ratio of 20 to 1 indicates that hogs eat 20 bushels of feed to produce $100 of marketable weight.  False.

8. The more closely correlated the price on an individual stock is with the stock index, the more effective hedging is with index futures.  True.

9. A portfolio comprised of smaller, more speculative stock issues would best be hedged against:   Answer = C

A. The NYSE Composite Index

B. The S&P's 500 Index

C. The Value Line Average Index

D. no difference

10. An account executive/registered representative may be registered with more than one member firm of the exchange at the same time.  False

11. On the Chicago Board of Trade a discretionary account may be handled by:   Answer = C

A. any account executive/registered representative who has passed the required examination

B. an account executive/registered representative with a minimum of one year's experience, and the account must maintain a minimum net equity of $5,000.

C. an account executive/registered representative with a minimum of two year's continuous registration with the Exchange and there is no special equity requirement for the account.

D. by an account executive/registered representative with a minimum of two year's experience, and the account must maintain a minimum net equity of $5,000.

12. Assume that customer A has a stock account and a commodity account for trading regulated commodities, and that the stock account has a debit balance of $2,000.  The commodity account has a credit of $2,500.  According to CFTC rules:   Answer = C

A. you may not under any circumstances transfer the $2,000 in the commodities account to satisfy the debit in the stock account

B. you may transfer $2,000 from the commodities account to the stock account

C. there may be no transfer without written permission from the client which authorizes the transfer of funds between accounts

D. you may transfer the necessary funds provided you do so when the stock is in debit

13. It is now August.  Soybean futures months are quoted as follows:  


Sept. 
Nov.
Jan. 
March 
  May
July 
Aug.


5.95
5.90
5.88
5.82
  5.78
5.76
5.74

This pattern suggests:   Answer = C

A. an increase in demand in later months

B. an oversupply in the cash market 

C. short cash market supplies

D. a decrease in future supply

14. A supplier of No. 2 Heating Oil enters into a contract in August to sell 4,200,000 gallons in December.  To protect against a possible loss, he hedges by selling an equivalent futures contract.  The August Cash price is $.25 and the futures price is $.40.  In December, the cash price is $.30 the futures price is $.31.  The contract size for No. 2 Heating Oil is 42,000 U.S. gallons.  The overall price change is:   Answer = A

A. $168,000 gain

B. $210,000 gain

C. $378,000 gain

D. $420,000 gain

15. If whet margin on CBOT is $.12 a bushel with maintenance margin at $.10 and a customer went short at 353 1/4, at which price would he have to put up more margin?  Wheat is a 5,000-bushel contract.

A. 355

B. 355 1/4

C. 351

D. 355 1/2

16. A $400 December gold put option, with a $30 premium, has an intrinsic value of $25 when December gold futures trade at:   Answer = B

A. $330

B. $375

C. $425

D. $430

E. 4455

17. An individual buys a contract of wheat at $3.70 a bushel and wants to guarantee himself against a loss of more than 5 cents.  You would advise him:   Answer = D

A. to place a stop order to sell at $3.65

B. to place a stop limit order to sell at $3.65

C. to place a market if touched order to see at $3.65

D. that there is no way he can guarantee himself against losing no more than 5 cents a bushel

18. An order which has no instructions as to duration implies that it's:   Answer = B

A. an open order

B. a day order

C. a limit order

D. a contingent order

19. Pyramiding is a trading technique wherein profits are reinvested into new positions.  True.

20. When writing an order for silver futures contracts, the order should specify the number of:  

Answer = C

A. ounces

B. dollars

C. contracts

D. pounds

21. Unlike the agricultural commodities, a short sale in stock index futures can only be made on an up-tick.  False.

22. The exercise of an option on T-Bond futures is most likely t take place when the option is:

A. Answer = D

B. at the money

C. in the money

D. deep out of the money

E. deep in the money

A. 23. On the CBOT, what does WK 255 1/2 stand for?   Answer = C

B. wool price for November

C. wheat price for November

D. wheat price for May

E. wool price for May

24. An order to buy 50,000 bushels of March wheat at $4.50 would properly be called:  

A. Answer = A

B. a limit order

C. a stop order

D. an MIT order

E. a contingent order

25. A corporation, as well as, individual members can become members of the clearinghouse.  True.

A. 26. The buyer of a put or call option on futures must pay the premium:  Answer = A

B. in full on the day the option is purchased

C. in full on the day the buyer decides to exercise the option

D. in full within 5 days of the purchase

E. 1/2 on the purchase day and 1/2 on the exercise day

I. 27. Advantages of buying options on futures contracts include:   Answer = B

II. limited risk

III. ease of estimating risk

IV. no margin calls

A. additional income

B. I and II

C. I, II and III

D. I, II and IV

E. I, II, III, and IV

A. 28. A market if touched order to sell at 7170 is placed.   Answer = B

B. It would become a market order if sales occurred at 7170 or below

C. It would become a market order if sales occurred at 7170 or above

D. It could only be executed at 7170 or below

E. It could only be executed at 7170 or above

A. 29. Equity index futures are MOST useful in hedging against:   Answer = D

B. unsystematic risk

C. diversifiable risk

D. credit risk

E. systematic risk

A. 30. A call option writer is covered if he has a:   Answer = B

B. short futures contract position before writing the call

C. long futures contract position before writing the call

A. 31. An investor who is short one S&P 500 Stock Index futures contract can best protect his position from a temporary rise in the stock market by:   Answer = B

B. buying S&P 500 put

C. writing an S&P 500 put

D. writing an S&P 500 call

E. any of the above

A. 32. A trader buys one S&P Stock Index contract at 115 and later sells it at 115.70.  The profit, before commissions, is:   Answer = B

B. $170

C. $350

D. $700

E. $2,2125

A. 33. The purchase of December wheat in Chicago versus the sale of December corn in Chicago is an:   Answer = C

B. intramarket spread

C. intermarket spread

D. intercommodity spread

E. interdelivery spread

A. 34. A trader has invested $6,250 in soybean futures for which the margin is $.25 per bushel.  Today, soybean futures closed at $4.50.  What percentage of his position does his margin money represent?   Answer = B

B. 3.3%

C. 5.6%

D. 7.0%

E. 7.6%

35. What is the percentage of gain or loss on his investment if the price of soybeans drop 4%? 

A. Answer = D

B. 2%

C. 10%

D. 50%

E. 72%

A. 36. A trader sells one S&P 500 Stock Index contract at 115 and later buys it at 115.85.  The profit or loss is:   Answer = B

B. $170 loss

C. $425 loss

D. $170 profit

E. $425 profit

37. An order to sell March oats at MARKET AT CLOSE is entitled to an execution within the closing range and hot necessarily at the last or closing price.  True.

I. 38. Which of the following pertains to the risk disclosure statement?   Answer = D

II. It is sent to all customers, whether they are speculators or hedgers

III. It must be signed by the customer

A. It must contain a statement similar to the following: a "spread" position may not be less risky than a simple "long" or "short" position.

B. I only

C. I and II only

D. I and III only

E. I, II and III

A. 39. A large amount of speculators in a futures market:   Answer = C

B. eliminates price fluctuations in the cash market

C. has no effect on fluctuations in the cash market

D. tends to reduce magnitude of price fluctuations

E. tends to reduce frequency of price fluctuations

A. 40. A member of an exchange who buys and sells, for his own account, thousands of bushels of grain for a profit of as little as 1/8 cent per bushel, is:   Answer = B

B. a pit broker

C. a scalper

D. a speculator

E. a position trader

A. 41. An individual observes that the spread between two different months in a pork bellies contract is 5 cents.  The distant month is selling at 77 and the near month is selling at 72.  The trader feels that the spread of 5 cents is excessive and that it will narrow.  In order to profit in this type of situation, he would:   Answer = B

B. sell the near month and buy the distant month

C. buy the near month and sell the distant month

D. buy the near month

E. sell the distant month

Use the following to answer questions 42 through 47

A. 42. The total value of the order on the day it is placed is:  Answer = B

B. $2,250,000

C. $1,152,000

D. $1,080,00

E. $1,136,000

A. 43. The most effective hedge for Waterloo Watches, Inc., would be to:   Answer = A

B. buy Swiss franc futures

C. sell Swiss franc futures

D. buy Swiss francs in the cash market and sell the futures

E. sell Swiss francs in the cash market and buy the futures

A. 44. If the importer were to take an appropriate position in the futures market, he would require how many contracts?   Answer = A

B. 16 contracts

C. 12 contracts

D. 8 contract

E. 6 contracts

A. 45. On the day the watches are delivered, the cash market price of the Swiss franc is $.6040 and September futures are at $.5740.  If the importer had taken no action in the cash or futures markets when placing the order, his net cost would be:   Answer = C

B. $2,000,000

C. $1,132,000

D. $1,208,000

E. $1,125,000

A. 46. If the importer took no actin in the cash or futures market on the day he placed the order for the watches, his cost would be:   Answer = A

B. increased by $56,000

C. decreased by $56,000

D. the same

E. none of the above

A. 47. If Waterloo Watches, Inc., had hedged his position, the net result would be:   Answer = D

B. a profit of $.006

C. a loss of $.002

D. a profit of $.002

E. a loss of $.022

A. 48. To liquidate a long position when the futures price reaches a certain level about the existing price, one would enter:   Answer = C

B. a sell stop order

C. a buy stop order

D. a sell limit order

E. a fill or kill order

A. 49. In selling futures against a growing crop, a producer has taken the role of:   Answer = C

B. speculator 

C. trader

D. hedger

E. spreader

A. 50. On September 1, a portfolio manager anticipates that he will receive about five (5) million dollars during the next three months, which he expects to invest in common stocks.  He is confident the current strong bullish sentiment will prevail and decides to lock in the present market level.  He could obtain this by:   Answer = A

B. buying stock index futures

C. selling stock index futures

A. 51. A plumber successfully bids for a contract that requires the installation of 500,000 pounds of copper tubing in six months.  The size of a copper contract is 25,000 lbs.  In order to hedge against a rise in copper prices, he would:   Answer = D

B. sell 25 copper contracts on the Commodity Exchange Inc.

C. sell 20 copper contracts on the Commodity Exchange Inc.

D. buy 25 copper contracts on the Commodity Exchange Inc.

E. buy 20 copper contracts on the Commodity Exchange Inc.

A. 52. Minimum initial margin is set by the:   Answer = C

B. members of the exchange

C. CIA

D. Exchange Board of Directors

E. all of the above

A. 53. The reason the margin requirement for a spread position is smaller than for a net speculative position is that:   Answer = B

B. spreaders actually handle the physical commodity and the risk of the price range is less

C. price fluctuations between the two futures contracts of a spread position are usually much smaller (less volatile) than price fluctuations in net long or short positions

D. only the net differences are usually used in calculating margin requirements

E. this is required by federal law

54. The price difference between the actual commodity and the futures price is called the spread.  False.

A. 55. A speculator wishes to buy four CBOT wheat contracts (5000 bushels per contract) and he has the required $8,000 margin on deposit.  The initial margin requirement is changed to $.60 per bushel before his order has been initiated.  The maintenance margin is not changed.  What will his required margin be?   Answer = C

B. $8,000

C. $10,000

D. $12,000

E. $14,000

A. 56. Expecting the market to move downward, an investor purchases an at-the-money September 80 NYSE Index future put option for a premium of $4.00.  The Index drops to 70 and the investor sells his put for $10.00.  His profit is:   Answer = B

B. $2,000

C. $3,000

D. $5,000

E. $6,000

57. Open interest consists of open long plus open short positions.   False.

A. 58. An order which is executed by Broker A for the customer of Broker B is known as which of the following:   Answer = C

B. cross trade

C. omnibus trade

D. give up

E. pyramiding

A. 59. Two of your customers have a joint account which provides that if one dies, the entire interest in the account shall belong to the living tenant.  This type of joint account is known as:   Answer = A

B. joint tenancy with right of survivorship

C. tenancy by the entireties

D. tenancy in common

E. none of the above

A. 60. Which of the following is not a concern of the CFTC:   Answer = C

B. limiting the maximum position in commodity futures

C. declaring an exchange as a contract market

D. testing of commodity solicitors

E. prohibiting price manipulation

A. 61. Most U.S. heating oil is used by:   Answer = D

B. industrial plants

C. office buildings

D. public utilities

E. homes

62. A futures representative may immediately enter an order for a customer who is currently undermargined if the customer assures him that a remittance is underway.  False

63. The Chicago Board of Trade Clearinghouse requires a member firm to deposit margin on:   Answer = D

A. all long positions and short positions that the member firm clears

B. the member firm's net long position

C. the member firm's net short position

D. the member firm's net long or net short position

A. 64. A major economic role filled by a futures market is:   Answer = A

B. determination of prices

C. price restraint

D. providing a market for surplus commodities

E. solving commodity shortages

A. 65. An order entered to buy above or sell below the market is a:   Answer = D

B. limit order

C. resting order

D. board member

E. stop order

A. 66. An investor buys 1 October 7.00 call on sugar (112,000 lbs. per contract) and pays a premium of 1.00.  The call is later closed out at 1.95.  The investor's profit is:   Answer = C

B. $532

C. $950

D. $1064

E. $2184

A. 67. When a customer does not respond to a maintenance margin call, his broker takes the following action:   Answer = A

B. may close out part or all of his position

C. will close out his account

D. will lend him money

E. will charge interest

A. 68. Deep out-of-the-money options:   Answer = D

B. offer the buyer a remote chance for profit

C. offer the grantor small premiums

D. offer very limited liquidity

E. all of the above

69. A floor broker can simultaneously buy and sell the same futures contract for a speculative customer.  False.

70. An individual who does not own or have access to storage facilities should not trade in futures.  False.

A. 71. A hedge position may not give full protection against adverse price movement because:   Answer = A

B. during the time the hedge is operative the basis may change

C. cash prices and futures prices usually move in unison

D. the various futures months do not usually sell at the same price

E. transportation costs vary from one area to the next

A. 72. The CFTC requires written confirmation on options on futures be provided to customers:   Answer = A

B. on the day the order is executed

C. on the third business day after the order is executed

D. on the business day following execution

E. on the fifth business day after the order is executed

A. 73. An account carried by one member firm for another member firm in which the transactions of tow or more customers are combined and carried in the name of the originating broker rather than designated separately is called:   Answer = D

B. a house account

C. a segregated account

D. a customer's regulated account

E. an omnibus account

A. 74. If a person buys a put option on a commodity futures contract, what would happen upon exercise?   Answer = A

B. He would be assigned a short position in a futures contract

C. He would be assigned a long position in a futures contract

D. He would have to accept delivery of the actual commodity

E. He would have to make delivery of the actual commodity

A. 75. A speculator notes that calls n the September NYFE Stock Index futures contract are quoted at 2.45 while December call options on the same contract are quoted at 2.65.  He believes that this spread will widen.  He would:   Answer = D

B. purchase September calls and purchase December calls

C. sell September calls and sell December calls

D. purchase September calls and sell December calls

E. sell September calls and purchase December calls

A. 76. A T-Bond option premium of 2-16 is worth:   Answer = B

B. $2,160

C. $2,250

D. $2,500

E. $5,400

A. 77. An in-the-money call means that:   Answer = A

B. the strike of the call is below the going market in the futures

C. the strike of the call is above the going market in the futures

D. the strike is at or close to the going market

E. all of the above

A. 78. If the limit on a particular commodity traded on the Chicago Board of Trade is $.10 and at least three different delivery months traded goes up or down the limit, the limit on the second day will:   Answer = B

B. remain at $.10

C. be raised 50%, to $.15

D. be raised 100%, to $.20

E. be reduced by 50%, to $.05

79. Buying options gives a trader staying power because there are no margin obligations.  True.

A. 80. If a trader offsets a long position during the delivery month and at the same time purchases the same commodity in a distant month, the type of order he has placed is a(n):   Answer = D

B. Conversion

C. Spread

D. Arbitrage

E. Switch

A. 81. A U.S. computer firm contracts on February 2 to deliver a shipment of minicomputers to a Canadian buyer in June, at which time payment will be made in Canadian dollars by the Canadian firm.  On February 2, the Canadian dollar is trading at $.86250 in the spot market, and the June futures are priced at $.86450.  To protect himself from an adverse exchange rate movement, the U.S. computer makes should:   Answer = D

B. buy Canadian dollars spot at $.8620 and sell the June futures at $.86450

C. sell Canadian dollars spot at $.8620 and buy the June features at $.86450

D. buy the June futures at $.86450

E. sell the June futures at $.86450

A. 82. The portfolio manager of a large institution wants to hedge a five million-dollar equity exposure.  Assuming the portfolio is perfectly configured to the S&P 500 Index, and the S&P index futures are trading at a price of 125.00, how many contracts are required for the hedge?   Answer = B

B. 160 contracts

C. 80 contracts

D. 40 contracts

E. 60 contracts

A. 83. A hedger is computing the basis on which he will sell his cash commodity.  The hedger will compute the basis that he will offer:   Answer = B

B. by noting the current price of the commodity and adding 50% to allow him a profit

C. by computing the costs to deliver the commodity from its present location and adding a markup for his overhead expenses and profit

D. by assuming that prices will not change and, therefore, disregarding all factors other than transportation

E. by charging the price of futures at the nearest contract market

A. 84. A businessman who produces chocolate candy would protect himself against a rise in the price of products he will purchase through:   Answer = C

B. A short hedge in cocoa

C. a short hedge in sugar

D. a long hedge in cocoa

E. none of the above would be effective

A. 85. Assume that commission for pork belly transactions on the CME is $30 per contract.  If a trader is long 2 contracts at 62.40 cents per lb., and he covers his position when the price has advanced 3.10 cents, what is the trader's profit?  (Pork bellies = 40,000 lbs.)   Answer = B

B. $2,360

C. $2,420

D. $1,210

E. $1,180

A. 86. The Value Line Average futures contract is traded  on the:   Answer = D

B. COMEX

C. IMM

D. New York Mercantile Exchange

E. Kansas City Board of Trade

Use the following information in answering questions 87, 88, and 89.



Cash Wheat

March Wheat Futures

Basis
July

      3.35


3..50


 -15

September
      3.40


3.40


    0

December
      3.42


3.47


  - 5

March

      3.43


3.40


  +3

A. 87. For a wheat elevator, how much would a hedge placed in July and lifted in September contribute towards carrying charges?   Answer = D

B. $- .05

C. $- .15

D. $+.05

E. $+.15

A. 88. How much if placed in September and lifted in December?   Answer = A

B. $- .05

C. $- .15

D. $+.05

E. $+.15

A. 89. How much if placed in September and kept to expiration?   Answer = C

B. $- .05

C. $- .13

D. $+.03

E. $+.13

A. 90. The exercise of a long call on a T-Bond futures contract will require the exercising long to assume a:   Answer = B

B. long position in T-Bonds

C. long position in T-Bond futures

D. short position in T-Bonds

E. short position in T-Bond futures

91. The following information concerns COMEX gold spreads.


July

August

Sept. 

Nov. 

Dec. 

Feb.


475.50

475.60

476.10

478.20

478.80

479.20

A. Which of the following will probably be the most profitable spread?    Answer = B

B. sell July/buy August

C. buy September/sell November

D. buy July/sell August

E. buy February/sell December

A. 92. Stop orders are used for the purpose of:   Answer = D

B. protecting profits on a long position

C. protecting profits on a short position

D. stopping losses on a short position

E. any of the above

A. 93. The purpose for signing a Customer Agreement Form is:   Answer = A

B. so a broker can liquidate a customer's position if his margin calls are not met

C. to prevent the broker from being sued

D. to give the broker power of attorney over the funds in the account

E. to absolve the broker from losses

A. 94. Trade margins are usually lower than those for speculative customers because:   Answer = C

B. they are subject to smaller price fluctuations

C. they are financially more stable

D. there is less risk in their position

E. the statement is not true

A. 95. A customer who purchases futures against cash forward is a:   Answer = C

B. scalper

C. spreader

D. hedger

E. trader

A. 96. If a speculator believed that bond and/or stock prices would remain relatively stable he would:   Answer = D

B. buy calls

C. buy puts

D. buy a spread

E. write a straddle

97. An intramarket spread requires there be more than one market. False.

98. You can place an order to buy and sell the same commodity at the same time for a speculative customer.  True.

The following information is to be used in answering questions 99 and 100.


Date

June Hog Futures

Cash Hogs

August 10

4950


4975


September 15

4975


5000


October 11

5000


4950


January 15

5050


5025


May 31

5100


5100

Assume interest on margin money equals 3 points and commissions equal 12 points.  The cost of interest and commission is 15 points.  The size of a live hog contract is 30,000 lbs.

A. 99. A hog processor placed a hedge August 10. What was his effective buying price of hogs purchased May 31?   Answer = C

B. 4960

C. 5015

D. 4965

E. 5100

A. 100. What would his cost have been if he had lifted his hedge January 15, but bought hogs on May 31?   Answer = C

B. 4940

C. 4965

D. 5015

E. 5100

A. 101. A put option is out-of-the-money if the underlying futures contract price option is:  Ans = A

B. higher than the strike price of the option

C. lower than the strike price of the option

A. 102. Factors which affect the basis are:   Answer = D

B. changes in readily obtainable supplies of the commodity

C. changes in the demand for specific grades of the commodity at designated locations at definite dates

D. uncertainty as to the quality of future production

E. all of the above

103. By definition, all option premiums carry an intrinsic value.  False.

A. 104. If the US had an $800 million trade surplus and the Federal Reserve tightened money supplies, the effect on silver futures would be:   Answer = B

B. bullish

C. bearish

D. neutral

E. none of the above

A. 105. After the trader deposits his original margin with his broker, and the market moves in his favor:   Answer = A

B. he may initiate additional positions with the excess equity in his account whether or not the position has been liquidated

C. he may borrow against the excess equity and is charged a flat interest rate on the funds borrowed and the interest is paid to the brokerage house

D. he may purchase put and call options on margin with the excess funds in his account

E. none of the above

A. 106. Assume that the commission on sugar transactions on the CSCS is $62.00 per contract.  If a trader has a long position of 2 contracts at 8 cents and he covers his position when the price has advanced 100 points, what is the trader's profit? (1 contract - 112,000 pounds)   Answer  = C

B. $2,240

C. $ 995

D. $2,116

E. $1,996

A. 107. Yesterday S&P 500 spot month futures closed at 175.00.  Under normal conditions, today's closing price could not exceed:   Answer = D

B. 176.50

C. 190.00

D. 200.00

E. normally there is no limit

108. The head-and-shoulders formation is one of the most reliable patterns indicating a major reversal in the market direction.  True.

A. 109. In a situation where there appears to be adequate supplies and available storage facilities, the market probably would be:   Answer = B

B. inverted

C. normal (or carrying charge)

D. flat

E. discounted

A. 110. Cash and futures prices will converge:   Answer = B

B. at the country elevator

C. at the market location during the month of delivery

D. at the terminal elevator

E. at the clearing house

111. A stop-loss guarantees that a trader will get out a specific price.  False.

112. A market if touched order to sell becomes a market order when the commodity trades or is bid at or below the order price.  False.

A. 113. December gold futures are quoted at $400.  The December gold 390 call is quoted at $13.  The $13 premium represents the following:   Answer = D

B. $13 intrinsic value

C. $13 time value

D. $3 intrinsic value, $10 time value

E. $10 intrinsic value, $3 time value

A. 114. A two-part order where one part is automatically cancelled if the order part is executed is:   Answer = C

B. a MIT order

C. a limit order

D. a OCO order

E. a CFO order

A. 115. A customer buys three gold contracts on the Commodity Exchange (COMEX) and sells them at a profit of $3.40 an ounce.  (A contract of gold is 100 Troy ounces.)  The total commission on the three contracts is $120.  The net profit on the trade is:   Answer = C

B. $1,400

C. $1,200

D. $900

E. $880

116. Unless offset, a commodity futures contract calls for the delivery of an appropriate commodity.  True.

117. When the word "FAST" appears on the CBOT tape, it means that:   Answer = B

A. only "bids" are shown

D. B. some transactions have been omitted

E. intervening price quotations and trades are included

F. the market is closing early

118. All of the following constitute visible supply except:  Answer = B

A. public elevator stocks

D. B. stocks of farms

E. certain stocks afloat

F. stocks in store at certain loading centers

119. When Value Line futures are quoted at 192.45, what is the futures contract's total dollar value?   Answer = B

A. $    192.45

D. B. $96,225.00

E. $19,245.00

F. $9,622.50

120. A SELL STOP LIMIT order in June Live Hogs at 38.50 is executed at 38.40 by the Pit Broker.  The error is charged to the:   Answer = C

A. customer

B. commodity representative

G. C. Pit Broker

H. there is no error

121. An individual has a profit of 88 ticks per contract on three T-Bond contracts.  The commission per contract is $30.  What is the total profit?  (T-Bond = $31.25 per 1/32)   Answer = B

A. $2,750

B. $8,160

G. C. $8,250

H. $4,080

122. Forward and futures contracts differ in that:   Answer = D

A. the latter is traded on organized exchanges while the former need not be

B. futures contract details are standardized and forward contracts are negotiated

G. C. futures can usually be more easily offset

H. all of the above

123. Concerning technical analysis, it is correct to state that:   Answer = D

I. the technical analyst is concerned with the movement of the price itself rather than the factors causing the movement.

II. the assumption is that the most important factor underlying price movements is human psychology

III. the technical analyst is a chartist

IV. the reason why the price of a commodity may drop is much less important than the fact that the price dropped


A. I, II and III


B. I, III and IV


C. II, III and IV


D. I, II, III and IV

124. If a customer dies, the account executive should cancel all open orders.  True.

125. Futures contracts are traded on all of the following currencies  except:   Answer = C

A. British pounds

B. Swiss francs

F. C. Spanish pesetas

G. Japanese yen

